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MANAGEMENT (PAPER-II)

Time Allowed : Three HoursJ Maximum Marks : QgO

QUESTION PAPER SPECIFIC INSTRUCTIONS

[Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and § are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in medium other than the authorized

one.
Assume suitable data, if considered necessary, and indicate the same clearly.
Normal probability distribution table is attached for necessary reference.

Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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TUus—A [ SECTION—A

1. (@) T FMCG % Silo T8 Blo felo AW & 0T 3 210l W &l &1 §=i13 @l & O1eay

(b)

ﬁ@qmﬁmwmmﬁm%m R goma fean 6 a8 gwen qafsey yw@E @

o ot & FER o 21 IO U Iraiy ° founa mTergE F gN 3N 3TW 3Tl 3@ld % gHH
T wEn § wiE Gl 8 F @ i GER F A T S W@ 8| 98 ST a-an
@H&ﬁﬁmw%lﬂwwmcﬁwmﬁm FoEt 3 9y R A e v gaen o
-3 SR R A fa el B, 4]-3Q At Radaeiear yafta Qdt s g1 Sfto T Ho o

I 8|

An FMCG company G & P Ltd. is in the business of making and selling diapers
through 1ts supply chain. It is facing a serious problem of huge imventory in
one period followed by a large number of stock-outs in the next penod. The
j)attem is getting repeated again and again. On analyzing the probdblem, the
company found that as demand information moveés upstream in the supply
chain, the demand variability is getting amplified. A supply chain consultant
was approached by G & P Ltd. who suggested that this problem is due to
Bullwhip Effect.

(i) ‘gcfod UM & FT AT HRU 27
| What are the possible reasons of Bullwhip Effect?

(i) ‘Fafew wa’ Y fhE TR SerE fohar S AR 87
How can Bullwhip Effect be contained?

(iii) fasht & forg (PoS) &t a1 i yfie ‘gafegy wuma’ tﬂa%:n%?
What is the role of Point of Sales (PoS) information on the Bullwhip Effect?

(i Wﬁmmﬁﬁ,méﬁ(maﬁm)ﬁwﬁ%mwiwﬁﬁw
& gl = o0 YR Sn] R ?

How would you apply the principics of value analysis to reduce cost
overruns in Indian projects?

i) e favetww % v #§ 31a e sEens w1 siger w7 |

What are the phases that you will follow in the process of value analysis?

(c) ﬁm%ﬁ'%sﬁﬁsoaﬁaﬁmészooﬁmﬁzﬁaﬁxm#ﬁ% 50 & 37feeF % @

C~DRN-N-DOAUB[38 2

200 TRt & SR # R @A & foe {6 e anemi & o s @ aem-wt 8 ¢ a
foh ToREl o1 |17 @ T T SR ol Il g1 36 § 50 94 % o9 & 200 et # ®
82 Frariadl ®! gHEm gead: FER-TH ¥ UK 8id 91 50 a9 @ Afee % 200 Farteat 9 |
104 franfit =t garR s w9 @ gEn-E @ @ fer 4

A study 1s conducted on 200 residents of a colony who were between the ages
of 36 and 50 years, and on 200 residents of the same colony who were over the
age of 50 years, to determine whether the source of their daily news is from
newspapers or otherwise. Of the 200 residents who were between the ages of
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36 and 50 years, 82 got their news primarily from newspapers. Of the
200 residents who were over the age of 50 years, 104 got their news primanly
from newspapers.

@) e freh el 1 991 ef=es 0 3 P 9w, &t 3@ s R yenrera (Nartafadt)
=1 2t fh Sasi—

If a resident is selected at random, what is the probability that he or she—

(1) GT=R Wyl ¥ @ gReR-1= @ i €

got news primarily from newspapers;

(2) TR wufls w9 8 geEn-T @ fiem § ot ag 50 o @ sftes & B,

got news primarily from newspapers and is over 50 years old;

(3) wuEr mufhEs €9 8 guEn-uA @ fied € @ 9g 50 96 ] At & 87

got news primarily from newspapers or is over 50 years old?

(i) T s fe ) Parfim = =97 e S ) 38 9 R geerea |1 e i A @
& guram i = @ gaeR-vE | fiem 87

Suppose that two residents are selected. What is the probability that both
got news primarily from newspapers? 10

(d) (i) ¥Ra ¥ TR N FEl § 9gR oufE YR (W BemR) & foy wH-9-FW d
wHifaar e
Suggest at least three strategies for better waste management in Indian
cities and towns. 5

i) M FRieE qfEy W e 49 YeH FE & o faskar (det) geaie et 999 & fag
A9 ToF1 B g Sl &1 ST w7

What are the two main factors which you would use for vendor evaluation
and selection for providing security services at office premises? 5

(e) (i) FHER 3R I o YR gEA qomel (TWe 35 Ho) F Izwdl IR Wl W AT
T oMl 3 ufdman &1 wu= #ifen ) |

Enumerate the objectives and importance of MIS in business and
industry. State its advantages and limitations, S

(i) wFEed R (S0 who) T 87 So WHo & ol 3R gitemistt @ wvi v

What is an expert system (ES)? Describe the advantages and limitations
of ES. 5

C—DRN-N-O# b /38 3 (P.T.O.
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2. (a) \Eﬂﬁﬂﬁf}ﬁaﬁwmﬁ (To g0 Hio) Wmﬁﬁﬁﬂﬁnﬁcﬁaﬁﬁ%wuﬁmﬁ

(b)

S § R AT I 8, A 98 I & W e ¥ R I snae Prprer qvEa g 2

lqﬂmlsﬁﬁmW%ﬁﬁﬁmﬁ@aaﬁe@%@Tﬁa\qiql%mmﬁﬁzmﬁﬁﬁ%

W g e 3 Fe o Fo il A auREr vy w @ 2 ™ o e o H afem

e Slo dlo Elo Gl HI St FaeH & Tl ot Iefl, =g, uf=iel a1 U= Sidi forefl

To Fo Mo mwwﬁﬁwﬁﬁmm%!

Arora Electronics Company (AEC) is receiving a lot of customers’ complaints
and returns of DVD players that it manufactured. When a DVD is pushed into
ithe loading mechanism, it can stick inside and it is difficult to get the DVD out.
Consumers will try to pull the DVD drawer out with their finger or pry it out
with an object like knife, pencil or screwdriver, frequently damaging the DVD
or hurting themselves. AEC is keen to improve this quality problem.

(1) ore & A o (SEmE) F1 €7 Yo So o TUTET F1 ATYH foRE TER FX Al 8

What are the different dlmensmns of quality? How can quality be
measured by AEC?

(i) TOTAT ST % A Y ariiotuT hl T8 HNT | 1 o Th-GUR oh H1Y T ud 27
Explain the three main classifications of quality costs. Are these related
with one another? |

(iii) Wwwﬁmmaﬁmﬁmaﬁaﬁwmm| H! To 3o Ho

} foFl PR ST L Tehell &7

' Suggest the seven basic quality tools that are used in total quality
management. How can these be used by AEC?

|(iv) i, Wh STl OTEl T, A el o, ol g g1 To do Hio 1 YEH TER! €A
B A1 mﬁﬁ%mww%ﬁmﬁmﬁmw%mmm%
FHYT H THREAA ohE ThIL THSTEN?

Crosby, a leading quality Guru, said, “Quality is free.” AEC management
fails to understand this because for better quality management they need
money. How will you explain to them the rationale of what Crosby said?

MR & whomreaes Fefead (SsiEiosd) 9 & E, st afd qur 60 9ve I wfyes Sie
W TEd 81 HHINE g 2a9 o 902 i A & §diU HION B W Uk g2 o7 6 I AT S«
RF R gAY A F FRO TER W 1564 FEEEEE F ww adaw 4 786 e 3R
778 Tfgeme off fR aftormmt 3 qwtan & 707 IE9 AR 638 AR 3 e w7698 *a of,
it 98 Jusier 3N gAYl o1 | arderar (Reefifthebw) & 0-05 W W, =1 AT & Ivorh 37K
A B & PO IF! TET A 9Tl FEAGT GET H U TRART & qUEd 9
fiw 87

Technology has led to the rise of workaholics, who are on the job 60 hours or
more per week. One of the reasons cited by employees as to why they worked

long hours was that they loved their job, because it is stimulating and
challenging. A survey of 1564 workaholics included 786 men and 778 women

C—DRN—N-D7t2Un/ 38 - 4
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and the results showed that 707 men and 638 women loved their job, because
it is stimulating and challenging. At 0-05 level of significance, is the proportion

of workaholic men, who loved their job because it is stimulating and
challenging, different from the proportion of women? 15 |

(c) (i) FRER 3R vaeud Fokm (fefawm-afe) & a=y 3 o who wHo &1 &1 319 87 37U
I TR Fl TETd 8 WP S| o THo WHo & eF AWML M GHHAIA F

Fyd hHifsu

What is meant by DSS in context to business and management decision-
making? Explain with an example that you are aware. State ten

characteristics and capabilities of DSS. o

(i) 3o Ao do YUl & W@ Y1l W YaATY SIAT | G713 VW HTH T8¢, S 7Y AR 7L
IO & B 3o 3Ro Tlo IR & fou wfa & €

Highlight the major functions of ERP system. State five factors, which are

driving ERP adoption by small and medium enterprises. 10

3. (a) & oy fafmin ¢4 & ¥HR & I9El, G AR I9H, Sl S AEd 21 T 8§ R ) oft

994 8 oY o

fRfAfam, ° wsam it A

g gue, 1 qual 3R 4 v A g1 ‘IAW & fu o favmn | sEw: 4 gue, 1 owver 3k 7 9l

'k

d ¢ 2 T it &

deqaTd I

AR yfg @ 100%1?%@@%%1%%@ gars, afcen
TSR] Bidl 21 g % {au gams, dfcen IR iRk B saw:

36 Tve, 5 "we 3T 28 TR §)

A small manufacturing firm wants to produce two types of products, Normal’
and Premium’ The profit from selling either of these products i1s same and
equal to € 100 per piece. Each of these products requires processing in three
departments—Casting, Welding and Finishing. ‘Normal’ needs 9 hours, 1 hour
and 4 hours in Casting, Welding and Finishing, respectively. ‘Premium’ needs
4 hours, 1 hour and 7 hours, respectively in these departments. The capacities
of these departments are 36 hours, 5 hours and 28 hours, respectively.

(v

‘T’ AR ‘FEm’ % 3cated Y 3PEN & &l Ao A & o, 3@ amen f gEius
Ras T arEn (Tdo Mo fo) & dR W @1 S|

Formulate the problem as a typical Linear Programming Problem (LPP) so
as to find the optimal number of ‘Normal’ and ‘Premium’ to be produced.

(i} 3TN YTHST TATH WICH HiSr |

Find the maximum achievable profit.

(iif) T Ieqe e 4 g e
What is the right product mix? 20

C—PRN-N-OnHUB/38
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An entry in the table is the proportion under the entire
curve which is between 2z = 0 and a positive value of z.

NORMAL DISTRIBUTION

Area for negative values of z is obtained by symmetry.
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(b} UTHFR T2 d9ETEE 99 & 360 RA 9T F1 wie war ¢ 3N Ao W S9ar 2| e =X
42 & A% Gl @l WK T @Al §; 9 0 Ta® g1 =g de d2 B it de f
3T ATides |/ 10000 w1 v 2, ufa &fter i umw @ma € 075 2 et aidE &
¢ 150 wfa 3idt 31 48 "Ad gu &% A fer oft Ffvm &1 | 7@ 8, oidd i wit & fore
3T & (T8 213 mfEaqsia it fAfraa 2, Feafafaa & 3wt dfsc

Paintkart Internet website stocks and sells paint online on 360 days of a year.
Paintkart store stocks several brands of paint; however, its biggest brand is
WeWe paint. WeWe paint has an estimated annual demand of 10000 litres of
paint, an annual carrying cost of & 0:75 per litre, and an ordering cost of € 150
per order. Assuming that the demand is uniform and is known with certainty,
lead time for receipt of orders is constant and certain, answer the following :

(i) <l 42 & fote geam smew wEn (Sheg 8) frat 27

What is the optimal order size (in litres) for the WeWe paint?

(i) el e & foIw e Fo Aoyt |va @@ 87

What is the minimum total inventory cost for the WeWe paint?

fiii) 3ean Imew Afd & fau ufa o 17 i wem #ur 27

What is the number of orders per year for optimal ordering policy?

fiv) =AY & = gy (3rufq AT =) 71 87

What is the time between two crders (i.e., the order cycle)?

(v) & AT FHTA 9 &3 A, 0 T:3eW & HT 87

If the lead time is 9 days, what is the reorder level? 15

c) (i) 3-9I" & Hias & U gau-3cEiEl 3l agaqy #4 8¢ 9aaRy & fHm SR
qroNies 3Terarft yunferal 3-arfieg o foru I 2

Why are micro-payments so important for the future of e-commerce?
Explain why traditional payment systems are inadequate for e-commerce.

(i) a3 @ fan-v% (TWo Sto Teo Hio) & WEET F-F §¢ TAF NG | A
Faadl IR TR F wE w77 fFEm 8 T Fews H s w1 fdwngEs
Fyd T '

What are the phases of the system development hfe cycle (SDLC)? Explain
the duties and functions involved in each stage. State in detail the role of
system analyst in the system development. 15

C—DRN-N-O b/ 38 7 [ P.T.O.
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4. (@) TR T AR B W F P i i FEEA SR e e @, 3 s

(fet B) & @y, (Welid) gut W fa=m Fifw -

Consider the (simplified) list of activities and predecessors that are involved in

building a small house as given below, along with their duration (in days) :

Tl FTFATY FT oI et FrFTY srafer (feat )
Activity Description of Activity Predecessor Activity _ Duration {in days)
A {9 =1 i ~— 5
| Build foundation
B [dal ok oa @ fi A 3
iBuild walls and ceilings
C Ba & Fad & iy B 10
Build roof |
D. frreh % Al B T = B 5
| Do electrical wiring |
E [qtasT 3R st &1 g8 w B | 10
| Fix doors and winlenws
F 42 HCH C, E 3
Painting

TH HeqT A € 1 foroet U oMM 1 &1 Y& 1 & a8 Yioied S 6T 21 B h T 5
YRR =1 T ¢ g8 9 99 | UM 6 9 dh HiE S
We assume that the builder works everyday once work is started on building

the house. Each day of work implies working from morning 9 AM to
evening 6 PM.

() afe fla-fmio s 1 o F ger 9 = IF oo 9, @ foost vem s=H | Wi
gt FEEEl ) el YU H YrUm?

If the foundation work is started on morning 9 AM of 1st November, when
can the builder complete all the activities involved in building the house?

i) I faoell & aft g &1 w10 i o B, @ foest wew SR A wfae wf
| HE%RET] S FE QU R IO

If the electrical wiring work takes 10 days, when can the builder complete
all the activities involved in building the house?

(iii) 7fe 43 =1 v 5 o7 @ A1 g, 4@ focet nwm SR ¥ Wit a9 wFRiEAM! Rl F9 QU
& qIT?

If the painting work takes 5 days, when can the builder complete all the
activities involved in building the house? |

C—DRN-N-O7t 2B /38 8
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(b)

(c)

(1

(1)

FE d I (A fafie ) e 27 e fh yeeudle e i, si7l i
o w8g’ ar g 2 |

What 1s ‘central lim:t theorem™ Give three managerial examples, where
‘central limit theorem’ is applicable.

TH T 8 TR e aret T & T 82 i 396 VR & fon diel ST 21 |/ f6 o
73 kg & A1 3 8 kg & AHH fa=em (W3 Sfauym) & iy wmra: faafta 2, 3w
T i yRED fheft & 1% 30 wm B | T Read ge am # WR 65 kg 3t 89 kg
& o9 gm?

A set of parts coming out from a process are measured for their weights.
Assuming that the weights are normally distributed with a mean of 73 kg
and a standard deviation of 8 kg, what is the probability that a part
coming out from this process will weigh between 65 kg and 89 kg?

(i) gw g wren (At s gisem) 4 s Sima (98 wEE) 6 STEunm w Wy

(Y

(1)

HIRT 98 JTFURon a-udhia [y & fon frg woer s@ute 6 s godt 27

Explain the concept of shadow price in a linear programming problem.
How can this concept be used for managerial decision?

Y= 73 qiaiet (3hyE faen @i m) &0 87 g9 o deare & fofg, e &
TR-TEEY] JSA $1 U7 ST | 36 Aisd & Tt 3R g1HI1 &1 FHuA i |

What 1s information system planning? Describe Nolan’s six-stage model
for IS planning. State the advantages and disadvantages of the model.

HqTl SIS fr &7t Ut 9ea yEET Wonelt (SrteR MR fiwen) @ sEiead
FAT I8 8, 9 shanl 1 Jufedfs A it wo Ho 330 o oMl Y T Wt 7 FW
s & g 8, fiws W owveifa gum & g3oam fen s g @ efe wie (Gad) 4
yugiitd gas (811) 78 7 st | Rnfafaa set=eml 4 8 @ f s mit s =
Ui I

Suppose we wish to implement a transaction processing system that
maintains ACID properties even in the presence of crashes. In the event of
a crash, any information stored on disk can be retrieved but any data
stored in memory will be lost. Describe one serious shortcoming of each of
the following impilementations :

(1) FHg-T9d (SEEE) TAF o W St W araaq fohan S 2
The database is updated on disk on each transaction.

(2) 3hel-d9g Wid 0 oM for W @ I 7, T 919 & R/ uid (F) & 9@
qETE oAl 9 araad fRa S R '

The database is kept in memory and on disk, with the copy on disk
updated every fifty transactions.

(3) SAiFer-v=y Wiy & v o 8 | ioww M & @ wigw U & It 8, e @
Td% e Rl &l ol 81

The database is kept in memory. A log file is maintained on disk
recording every transaction.

15
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Yus—B / SECTION—B

5. fAmferiaa yeat & 3w AR

Answer the following questions :

(@)

(b)

(c)

(d)

()

T - % el 4, “ypofta s (it o) T A T A

With reference to Induétry Life Cycle, explain the term ‘embryonic industry’.

T sl AT & a6 § gy & fommam e’ f faraw 4 ofaffe 26 @ R
4 HH-8 IME FRF ¢, [k o a8 aieds g gan 27

Since India’s independence, there has been a changing ideology from
nationalization’ to ‘privatization’. What economic factors have triggered this
change?

=EEE WA 3R wrifa’ & i fader fifWe) sreaE’ & @ w ol ‘Tl F w9
TIiRAl 3 geleraraft &1 fuion & & g, qea s@en favewo 3 fra yer ang fean s e
g7

Distinguish between business strategy’ and ‘corporate strategy’. How can
value chain analysis be applied to determine strengths and weaknesses at the

. level of business’ and the ‘firm’ level?

VI FIE T STY-FIE a1, THE ! TPl o T1, aieqt & Fad & [0 fova &1 waifos
ATHYH Teg gt N wHEd & 3t Qanedi & =R i fafw faad wre v Jenstt &
FUEE fowR 4, wrka afgd faemsfia e i fiwfaa <ot & o9 55 %1 wnreeEeES
AT FHifoTT | '

India is the world’s most attractive destination for sourcing services with
abundance of manpower, both skilled and semi-skilled. Explain various
‘modes’ of trading services under the GATT Agreement. Critically evaluate the

conflict between developing countries including India and developed countries
in international expansion of services. |

qguell AT A Hhew K deR SAren Hifse R T Aifse fF osgoEm mm
(THo THo o) B I Tehdl TaTE & Va-ud & frd Tm wwifed st R

Elucidate the concept of ‘multilateral netting’ and explain how it influences

management of cash flows in a multinational enterprise (MNE).

6. T=faliaa vl & Sag e ;

Answer the following questions :

(a)

TR WA & foTT 98 9WE1 HieA 2 6 HY Iy ol T &1 7 @ §, fasives
it Y U 2l 8 3N Th Hed 9y 21 FfEn o o= qd ufimng St ) sorgad qu, qd 2
Al A W GE sl g6 I AN % {7 GHEET SEH A8 ) 9Ra 3 oty gl o
&W § T N, H-HE g Ty A9eUs ¥ 3+ fory, TR sawgrEly |
heR T8 Taedl e Mg HIR o e awin R, B o affs 1§ 25% @ 35%
wraHd g W a1 B 6 U 9] e Y IR # TREE SATE B T 0sd i FE § g

C~DRN-N-On2UB /38 10
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(0]

(c)

30 AT F1 A9 I3 ) Ffe f B g oo, sfiemma sl ‘Mus’ w6l dikd w1
Tl WURUE AN S W Afkd B B H, T T dad! 38 §re Jhed TEae
IE-EHY AAYF ARYT 31 30 YRR, wiel faqor agea erehat v arefasar 8
ZHA ol |

Most Indians find it difficult to understand how Western people eat beef,
particularly since cow gives milk and is a revered animal. Korea and other East
Asian countnies’ love for foods such as bloodworm soup, snake and dog meats
1S not easy to understand for outsiders. In India and other South Asian
countries, the fairness of skin is the most important parameter of women'’s
beauty. There is, for example, a huge market in Indian subcontinent for
fairness creams such as ‘Fair and Lovely’ which is growing annually at 25% to
35%. A large number of firms have attempted to exploit this opportunity by
introducing a variety of fairness products in the market. On the contrary, most
Africans are surprised at fairmess’ being considered a key parameter of beauty.
In Africa, brands like ‘Dark and Lovely’ for personal care products are highly
popular. Thus domestic marketing experiences often conflict with international
reality.

(i) I9UH ] HAH A Wd g ATA-Ten FAfal (dew-tet=w wdfen) 6 aweqn & e
i, S =gl & | H1d Hd qHT Yoy ol aigias Fole (arfsifeea fefaem) o4
& ahaar & ganfaa st g

In view of the above, explain the concept of Self-Reference Criteria (SRC)
that influence a manager’s ability to make objective decisions while
operating in international firm.

(i) A JAUET FER § IHETRA &1 8 FH14-T9eEs & il gyl 6t Jigar & e ThR
TTfad Ll B¢

How do these impact ability of managers to perform effectively in
international business?

“yrefire (wRRfafedl) w6t Aifa Fi numflen g9 @R & g gEiEviy e S s
feTa @y-a1y 9 Ghd 81 38 HYA H GRS GHa hife

“Environmental conservation can go hand in hand with economic development
by keeping sustainability as the cornerstone of the policy.” Criticallty examine
this statement.

HIGl TUl qh VW TS T FEIR BTEAT ol WA Hleh MG SN o © 3R 316l
ezl @ 3wt =i f i’k @ i w e )1 e e S gl 89 wr s @ A
ZATe 39 TRt A feega v wiaega, gama v fasita Raea & e Ry & 3l 1 2-5%
e FHTE e W 0 A1 1994 # Fo YW T Fo AHEF B2 81 TATA 4 T &
qeaq ] 9gd &9 @0 @ FHITH | A fen A gl vem s aegym gy #+ fan)
g1 T qREY qate (ICT) & 30 foram & i 3 B FPHaEl SeR 3 539 1T 3N
FT FHIR T A e gard Ity s 7oif, 3mfem o us ot arafy & ot & I |
3R AfF A DI TR § 3 | SR 8 waw & A= Jf<L9 & w1, 79 2000 9% 150

10

prepp

Your Personal Exams Guide


https://prepp.in/

www.prepp.in

H ST B $EHE W ATHaEd ¢fen a9 ver %{Té’?ﬁl?ﬂaﬁwﬁeﬂ I8 § HHITH 3 FH
g T 1999 % JEIT ah ¥ HUHAT 5000 3T F TIF RN R $ 1495 F Ui Fe a1l
Tege W aiaergd 2fen fard Ivesy & @) off SafE i-d9 gend $ 20 9 W W AR

FA A 1000 T F #EK aF $ 500 & Fegd W A9 Gard yeH w ©® F1 78 2000 F

AE T TS ST &l 9 R I MR H 40% B 11 g0t Fal TR F1 aTet genad] )
A9t Wi I8t g€t 1999 1 AR o=, qul 891 YSH 91 e, 4 1000 39 a9 F
FUR W $ 29:95 & e W AR HAMR WAl Y T IREY /AT e 3 31t
daretl 6l & Seadst R 93 "ggd W uiiRg SR i glayn s urgsl 6l 9EH | 3
F T F Fw g S § Al B B i o 9 JAaie g ff ' o) oi| e ®
3 UTERl & Tore Wi wg oAfag 2fen ot watiea gluwn it geave ot asta fReenrawe
ATz S Te8E F1 2000 F 37 9F IWSFH (NASDAQ) &1 99K Hod 3F Fhi &l
avie A T 60% & T, i T8 HRl i a8 T AT fen e € T 1 o1\ 31
AT STt 9T I B g

For years, stockbrokers with expensive computer hardware traded online and
charged individual investors hefty commission to buy or sell a stock.
Full-service stockbrokers such as Merril Lynch offered clients detailed research
reports, recommendations and financial planning services for as much as 2:5%
of the value of the order in commission. In 1994, a small discount broker
K. Authaurer & Co. became the first to offer online trading over the Internet at
much lower cost and commission. With rapid expansion in information and
communication technology (ICT), entry of number of small companies offering
clients online trading services with low commissions, America’s long bull
market drew ever more individuals into stock market. By 2000, over 150 firms
were offering online trading over Internet due to low entry barriers,
Commissions further dropped due to intense competition. By early 1999,
online brokers charged deep discount fees of $ 1495 per market order of up to
5000 shares compared to $ 500 charged by full-service brokers for the order
up to 1000 shares trading at $ 20 per share. By mid-2000s, the volume of
online trading accounted for 40% of all the stock trades. Full-service brokers
had to change their strategy. In 1999, Merril Lynch, a full-service broker,
announced online trading service for a fee of $ 2995 for trades up to
1000 shares. The company also shifted to a new uniform fee structure with a
flat new rate allowing unlimited number of trades for many individual clients,
although the company faced internal rebellion from its army of stockbrokers
due to decline in income. For many of Merril’s clients, a combination of
research and online trade was a better value proposition than discount online
trading houses. By late 2000, NASDAQ declined in value by 60% due to
multiple factors drying up the online trading. The same was the fate of other
stockbrokers.

fi) @ e o § atiea s § firoae o S -fagss gem o7 fRogoft hifso

Do you think that the decline in online trading was a watershed event?
Comment. | | 10

C—DRN=-N-Ot2Ub /38 | 12

prepp

Your Personal Exams Guide


https://prepp.in/

www.prepp.in

(ii) Sfoeraiead WHId a9 & o Sfomaias adl 4 giEad & favemm & fau se-a

=31 BT (bHaTh) &7

What 1s a good framework to analyze the changes in competitive forces to

shape the competitive strategy? 10
(iii) I IAN B Gieqdics: ol U g afigdd 9 a0 g 3 § g%ad & [/ srevas
T Y Seet ST 9TY
How did change in competitive forces in the brokerage industry change
the strategies required for success in the industry? 10
7. {=tcdigd gt & 3 difse
Answer the {ollowing questions ;
(a) e @ g2 wroft 9 2013 ° 6 & & ATNE @Rl 1 HigW faam 2 .
A summary of major trade partners of France in 2013 is given in the table
below :
F1H & &I 1S IR
Major Trade Partners of France
+afd | Exports 31T | Imports |
29 | Country geg (Yo o $ 3WA H) | 3797 (%) | TcF (Fo THo $ WA 1) | 379 (%)
Value (US $ billion) | Share (%) | Value (US $ billion) | Share (%) |
SHAT 93-2 16-4 114-2 171
Germany
afeam 436 77 524 7-8
Belgium
Telt 40-3 71 47-7 7-1
Italy
Jo Ho 391 6:9 275 4-1 |
UK |
Er 383 68 40-7 61
Spain
Jo THo Wo 358 6-3 43-4 65
USA | |
ferdrzy 233 41 289 43
Netherlands
= 196 35 53-8 81
China :
MY T H, Uy =R Bt 8 @ -0 B et S aEu B Ty wdl 87
ek foe o watioes 3w R & 3R SRIFd SR 4! ] 4HE1y|
In your opinion, which of the international trade theories explains the above
trade patterns? Explain the above trade patterns with the theory that you
think is most appropriate. 20
13 [ P.T.O.
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(b}

I H EdEdl a8 # G 1 AW @ 91 6 gl & e o "er 87 379 adh

YHIUTG <hiTeru |

CARE | S e (Feaagard Wudl) <l e 1 IR S0eisd HES B 2l 6 s
 TEd gU ued, ¢eAmhl AR widgel & ad #, Sifs® wrae wem o aweg A % fog s

Gﬁaﬁmmﬁtﬁﬁimﬂwmwwmﬁwﬁaﬁ%ﬁﬂ A9 o5 9
&l BT i ?

“Protection of intellectual property regime has been relatively weak in India.” In
view of this, what measures will you recommend to strengthen and bring the
intellectual property regime at par with internationally accepted framework of

intellectual property protection in the context of patents, trademarks and
copyrights?

|
i % el WA PRt f fgfe # waear aﬁgﬁr‘éaﬂ AT TEEqYl 21 FT O]

“In the appointment of independent directors on corporate boards, it is
important to ensure the independence’.” Do you think that ‘independence’is a

matter of structure of the board or application of mind? Substantiate your
argument.

8. freiffian el % s e -

Answer the following questions :

(@) Tasta wifor favevor o I UF B P o 91 GO W@E V, X, Y au Z &

u =Rene fomar mn g

Four business units V, X, Y and Z of a firm P have been characterized as
follows, after carrying out the Business Portfolic Analysis :

S ESIEREED | v X Y Z
Business Unit | |

oft Fa | wmeg (FmEs) | R ged o
Category | Dog Cash Cow Star Question Mark

(i) T FIE™E Thal & o1 Wi Fraw fameat &1 Fuiu & & fog o S gafags
&= 1 e YR 9T 7

How will you use the ‘general electric’ framework to determine the
strategic investment options for these business units?

(i) T Yfaerf i Q, ®H P % =99 Te® Y & SHUR i Giedt =mwd! g IR 30 fou

WWWW%WW%IWﬁPﬁWWWW?W%ﬁI

T Q o SEE Ues Y asa U $H P & foru o vey-Rgey 87

A competitor firm Q is keen to acquire firm P’s business unit Y and is
willing to pay an attractive amount for this purpose. Should the firm P
accept the offer? What are the pros and cons to firm P of selling the
business unit Y to competitor firm Q7?
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(b) (i) SN f aunen Hi gau ° sgven Hifge| faftm ger f i otk dew SR W

3T I9E @) Tlawar e difsu)
Briefly explain the concept of ‘dumping’. Elaborate various forms of
dumping and their impact on the target market. 10

(i) ‘AR F I H GHoddl FHl WE FHINC U1 3HH 08 qaRU| Had, FqEA AR
3 F AR i I 1 faves Five) fasfa @ e < f =mr f wal o
11 & FRO gE=TAT|

Explain the concept of ‘terms of trade’ and its significance. Differentiate
between ‘net’, ‘gross’ and ‘income’ terms of trade. Identify the reasons for
differences of ‘terms of trade’ between developed and developing
countries. 10

(c) ‘aEuEl wH % fu fageht wU OREIGd w1 YEE My ®1 fAvias g R, Hie S
AT 3eTd1 TRl STUh | HIaRe Yed & §auq & g<d 4 30 I1d & wE Hifvu
“Managing external debt portfolio of a multinational firm is crucial to

profitability, as otherwise operational efficiency will jeopardize.” Explain this in
the context of enhancing corporate value. 10

* * %k
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